CIP CURB W/CONT #4,
ROUGHEN EX CIP DECK
PRIOR TO PLACEMENT

PREFINISHED METAL
FLASHING TO COVER
CURB AND METAL PANEL

PROTECT EX MTL
PANEL TO REMAIN

EX MTL PANEL ———
FRAMING TO REMAIN

(2)PL 3/8x7 3/4x1°—-0"
BENT (GALV) (TYP)

METAL MESH PANEL\

SOUND OUT CONCRETE AND PERFORM

CONCRETE DECK REPAIRS PRIOR TO !

INSTALLING 1/2"/FT CIP SLOPED OVERLAY b
d

APPLY TRAFFIC MEMBRANE AND
TIE INTO EXIST, EXTEND UP
AND OVER CURB

— EX CcoL

NOTE:
THE FOLLOWING VEHICLE BARRIER AND PEDESTRIAN
GUARDRAIL CONDITIONS MUST BE MET:

A. MINIMUM PEDESTRIAN GUARDRAIL HEIGHT FROM TOP OF
FENCE TO CURB IS 3°-7"

B. MINIMUM VEHICLE BARRIER HEIGHT FROM TOP OF HSS
BARRIER TO DRIVE SURFACE IS 2°-9”

C. HSS BUMPER HAS BEEN INCREASED IN HEIGHT TO
LIMIT THE AMOUNT OF VEHICLE HEADLIGHT
ILLUMINATION OUTSIDE OF THE GARAGE AND IS SIMILAR
IN HEIGHT TO THE EXISTING PARAPET.

***NOTIFY ENGINEER IMMEDIATELY IF ANY OF THESE
CONDITIONS CANNOT BE MET. ***

Vau HSS20x4x5/16 (GALV)

PL 3/8x7 3/4x1'—0"
(BENT) (GALV)

1

METAL MESH PANEL DETAILS PENDING CITY APPROVAL.
ALTERNATE: INSTALL POST TENSION BARRIER CABLES
SIMILAR TO PREVIOUS FACADE RENOVATIONS.

_——3/4"8 A325 BOLTS
W/2 WSH (GALV)

~ PL 3/4x12x1—10"
(GALV)

?

ROUT AND SEAL
AROUND COL

4"
| MAX.

_ LEVEL 1$

CLEAN AND PRIME

\\ EX REINF SHALL BE CUT,

PROVIDE 6" TALL CIP COLLAR AROUND
COLUMN, PROVIDE 2" CONC COVER; COAT

COLLAR W/TRAFFIC MEMBRANE, PREP/PAINT
COL PRIOR TO COLLAR INSTALLATION

HSS/PL BOTTOM MESH PANEL SUPPORT,

SECTION

SIZE TBD (GALV AND PAINTED)

(0

@

HSS20x4x5/16
/ (GALV) (TYP)

1"=1"-0"

ORIG ROOF SYSTEM
TO REMAIN

EX W8 COLUMN

— L = |

3/4"8 A325 BOLTS
(GALV) (TYP)

\

|
PL 3/8x7 3/4x1’-0" | H \
BENT (GALV) (TYP) I

EX W8 COLUMN \

@

3/4"0 A325 BOLTS
(GALV) (TYP)

=——1

3

DETAIL

1"=1'-0"

/AN
\ st/
2/

\— PL 3/4x12x1'-10"

(GALV) (TYP)

S2

EX HSS BUMPER

EX CABLE
BARRIER ANCHOR

HSS20x4x5/16
(GALV) (TYP)

DETAIL

7"=1I_0’I S

THIS DRAWING IS AN INSTRUMENT Of SERVICE AND SHALL REMAIN THE PROPERTY
OF BECKER STRUCTURAL ENGINEERS INC. IT SHALL NOT BE REPRODUCED, COPIED,
LENT OR DISPOSED OF DIRECTLY OR INDIRECTLY NOR USED FOR ANY PURPOSE
OTHER THAN FOR WHICH IT IS SPECIFICALLY FURNISHED AND MUST BE RETURNED
TO BECKER STRUCTURAL ENGINEERS INC. ON COMPLETION OF WORK, IFF REQUESTED.

PL 3/4x9 1/2x1'-10"
(GALV) (TYP)

KORALATH PLASTIC
SHIMS AS REQD

51,52

PL 3/8x7 3/4x1'-0"
BENT (GALV) (TYP)

1 7/8"

3'=7" MIN.

2AC

— = HSS/PL TOP MESH PANEL
/7 SUPPORT, SIZE TBD

(GALV AND PAINTED)

-— EX coL
———— HSS20x4x5/16 (GALV)

METAL MESH PANEL\

+—— PL 3/8x7 3/4x1'-0"
[ / (BENT) (GALV)
e
+—— 3/4"0 A325 BOLTS
i W/2 WSH (GALV)
|
|
i —— PL 3/4x12x1'-10"
(GALV) h
o L
©
A
:‘i\
e \ LEVEL 2$
[
/ X S '
/ /& i <

SECTION

\\ COAT EXPOSED

CONCRETE CURB

N\ INTERMEDIATE ANGLE MESH
PANEL SUPPORT, SIZE TBD

(GALV AND PAINTED)

1"=1°-0"

EX W14 FRAME

HSS20x4x5/16
(GALV) (TYP)

®
NN
/4" |

&

17/8" |

3/4"8 A325 BOLTS
(GALV) (TYP)

DETAIL

VAR

S2

PL 3/4x9 1/2x1'-10"
(GALV) (TYP)

BUMPER SYSTEM

(22
\g.s/

(2

1"=1°-0"

ot/

/ EX HSS BUMPER
¥ |

PL 3/8x7 3/4x1°—0"
BENT (GALV) (TYP)

i

EX W14 FRAME

EX CABLE
BARRIER ANCHOR

HSS20x4x5/16
(GALV) (TYP)

@

3/4"0 A325 BOLTS
(GALV) (TYP)

DETAIL

PL 3/4x9 1/2x1'—10"
(GALV) (TYP)

KORALATH PLASTIC
SHIMS AS REQ'D

1"=1'-0"

S1,52

FIELD DRILL 7/8"¢ HOLES IN EXIST
COLUMN WEB.” COAT HOLES WITH

COLD GALV COMPOUND PRIOR TO

INSTALLING BENT PLS & BOLTS ——
PL 3/4x12x1'—10"
13/16"8x2 1/2" (GALV) (TYP)
SLOTTED HOLES

1/4
TYP
3/4"¢ A325 BOLTS 1/4
W/2 WSH (GALV)
N
N -
T
¥ |
|
|
< -——- =
\
- } — i1112.Me0)
N | / |
=>_______ ~ 10 1 ]
<+ 6" \]
MIN
(2)PL 3/8x7 3/4x1'-0" HSS20x4x5/16

BENT (GALV) (TYP) (GALV) (TYP)

i B EX COLUMN

(FRONT FLANGE NOT
SHOWN FOR CLARITY)

SECTION (3
1"=1'-0" sz

EX COLUMN EX COL CLEAN, PREP, PRIME AND
TO REMAIN PAINT ALL EXPOSED SURFACES EX COLUMN
70 REMAIN
. HSS20x4x5/16 (GALV ASSEMBLY) . .
\ 1] T =t | 1] T
\ [ ] \ \ [ \
\ I \ \ I \
\ | \ \ | \
+ | N i —t n - 3
[ T
\ \ \ \
] L]
‘ | ‘ | ‘ | ‘
***** ] r—— """~ ————— ]
I I I I
e e e e e e e ]
B \ B
| | I\’ | |
- \— EX BEAM BEYOND
B DETAIL / e\
N3 | e \=L/
METAL MESH PANEL
HOLD BACK MESH @ @
2" FROM COLUMN
DETA/L /) E \ EX FRAME
o TO REMAIN METAL PANEL SUPPORT (GALV) EX FRAME
\ S7 / TO REMAIN
| |
i |
. HSS20x4x5/16 (GALV ASSEMBLY) . .
| 1] = = 1] =
\ [ \ \ I \
\ | \ \ [ \
\ |] \ \ | \
+ | n i — || - =g
65 LEVEL 2 I
P \— EX BEAM AND COL CLEAN,
ﬁg gg,t,,‘{,’{,” PREP, PRIME AND PAINT ALL
EXPOSED SURFACES EX COLUMN
7O REMAIN
DETAIL / F O\
1/2°=1'-0" \ s1 /

BECKER

STRUCTURAL ENGINEERS
75 York Street, Portland, Maine 04101
207.879.1838 ® beckerstructural.com

ol

QN

\\\\\\\\HHIII/////
\\\9:‘90':4"4/ %

o
~

%
Z,
"7,

Apprd

Issued For

Date

2/17/16 | FOR PERMIT
3/8/16 | FOR PERMIT

Rev No

1

FORE STREET PARKING FACILITY

MAINE

PORTLAND,
FORE ST FACADE REPAIRS

SECTIONS & DETAILS

Designed

JMM

Scale

Drawn

RJB

AS NOTED
Date

3/8/16

Checked

JMM

Becker Job Number

3752

52




